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STATISTICAL METHODS — II 

(For those who joined in July 2020 onwards) 

Time : Three hours Maximum : 75 marks  

PART A — (10 × 1 = 10 marks)  

Answer ALL questions. 

Choose the correct answer. 

1. Ehß öuõhº¤ß ©v¨£õÚx 

 (A) GÀø» CÀø»    

 (B) 1US SøÓÁõP C¸UP»õ® 

 (C) JßÖUS ÷©À C¸UP»õ®    

 (D) +1 ©ØÖ® –1US Cøh÷¯ ©õÖ£k® 
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 The correlation  

 (a) has no limit  

 (b) can be less than 1 

 (c) can be more than 1    

 (d) varies between ± 1  

2. Cμsk öuõhº¦ öPÊUPÎß ö£¸UPÀ \μõ\› 

Gß£x ___________ BS®. 

 (A) \μõ\›  (B) ]uÓÀ AÍøÁ 

 (C) ©õÖ ÂQu® (D) Ehß öuõhº¦ 

 Geometric mean of two regression coefficients is 
___________. 

 (a) Mean  (b) Dispersion 

 (c) Variation (d) Correlation 

3. ¦ÒÎ Â£μ[PÒ ÷\P›UP¨£mk, £À÷ÁÖ \©Põ» 

CøhöÁÎ°À £vÄ ö\´¯¨£mhõÀ Ax 

___________ GÚ¨£k®. 

 (A) SÔ±möhsPÒ  

 (B) Põ»®\õº öuõhº Á›ø\ 

 (C) öuõhº¦ ÷£õUS     

 (D) Ehß öuõhº¦ 
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 Data which are collected, observed or recorded at 
equal intervals of time is known as 

 (a) Index Numbers (b) Time Series 

 (c) Regression (d) Correlation 

4. £¸ÁPõ» ©õÖuÀPÐUS •UQ¯©õÚ Põμn® 

 (A) ©UPÒ öuõøP ö£¸UP®     

 (B) £¸Á{ø» ©ØÖ® \‰P £ÇUP ÁÇUP[PÒ 

 (C) Â¯õ£õμ ©¢u{ø»   

 (D) ÷©ØTÔ¯ AøÚzx® 

 The most important factor causing seasonal 
variations are 

 (a) Growth of population    

 (b) Weather and social customs 

 (c) Depression in business    

 (d) All the above 

5. J¸ ©õÔ¼°À HØ£k® ©õÖuÀ AÍøÁ AÍÂh 

£¯ß£kÁøu ___________ GßQ÷Óõ®. 

 (A) Ehßöuõhº¦ (B) ]uÓÀ AÍøÁ 

 (C) \μõ\›  (D) SÔ±möhsPÒ 
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 Measures of change in the level of phenomenon is 

called ___________. 

 (a) Correlation (b) Dispersion 

 (c) Mean  (d) Index Numbers 

6. RÌUPõs£ÁØÔÀ G¢u SÔ±möhs Põ»® ©õØÖz 

÷uºÄ ©ØÖ® Põμo ©õØÖz ÷uºÄPøÍ {øÓÄ 

ö\´QÓx? 

 (A) C»õì¤¯º (B) ¤åº 

 (C) £õì]  (D) ö£Í¼ 

 Which one of the following indices satisfies both 

time reversal and factor reversal list? 

 (a) Laspeyres index number    

 (b) Fisher’s index number 

 (c) Paasches index number    

 (d) Bowley’s index number 

7. J¸ uõ¯U Pmøhø¯ E¸mk®ö£õÊx 

Cμmøh¨£øh Gs ö£Ó {PÌuPÄ GßÚ? 

 (A) 1/3   (B) 1/2 

 (C) 1/6   (D) 1/8 
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 What is the probability of getting an even number 
when a die is tossed? 

 (a) 1/3   (b) 1/2 

 (c) 1/6   (d) 1/8 

8. J¸ ÷\õuøÚ°À QøhUP¨ö£Ö® AøÚzx 

{PÇUTi¯ •iÄPÐ® ___________ GÚ¨£k®. 

 (A) •Êø©¯õÚ {PÌa]PÒ    

 (B) uÛzu {PÌa]PÒ  

 (C) \õº¦ÒÍ {PÌa]PÒ    

 (D) GÎ¯ {PÌa]PÒ 

 The total number of possible outcomes of a 
random experiment is called 

 (a) Exhaustive events (b) Independent events 

 (c) Dependent events (d) Simple events 

9. £s¦PÎß ÷\ºUøP Guß öuõhº¦PøÍ AÔ¯ 

EuÄQÓx? 

 (A) £s¦PÒ   

 (B) AÍÂhUTi¯ PõμoPÒ 

 (C) ©õÔ¼PÒ    

 (D) GsPÒ 
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 Measures of association in usually deal with 

___________. 

 (a) Attributes  

 (b) Quantitative factors 

 (c) Variable   

 (d) Numbers 

10. ¦ÒÎ Â£μ[PÎÀ C¸ £s¦PÒ J¸ ÷\μ 

C¸¢uõ÷»õ, AÀ»x J¸ ÷\μ CÀ»õÂmhõ÷»õ 

AøÁ ___________ GÚ¨£k®. 

 (A) ÷|º EÓÄ Eøh¯øÁ    

 (B) Gvº EÓÄ Eøh¯øÁ 

 (C) uÛzußø©    

 (D) GxÄªÀø» 

 When two attributes are present or absent 

together in the data, it is called ___________. 

 (a) positive association 

 (b) negative association 

 (c) independent association     

 (d) none 
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PART B — (5 × 5 = 25 marks) 

Answer ALL questions, choosing either (a) or (b). 

Each answer should not exceed 250 words. 

11. (A) Ehßöuõhº¤ß £À÷ÁÖ ÁøPPÒ ¯õøÁ? 

  What are the different types of correlation? 

Or 

 (B) Ehßöuõhº¤ØS®, öuõhº¦÷£õUQØS® 

EÒÍ ÷ÁÖ£õkPÒ ¯õøÁ? 

  What are the differences between 
Correlation and Regression? 

12. (A) Põ»®\õº öuõhº Á›ø\°ß £À÷ÁÖ 

£SvPøÍ ÂÍUSP. 

  Explain the various components of time 
series. 

Or 

 (B) }sh Põ»¨÷£õUQøÚ AÍÂh £¯ß£k® 

Áøμ£h •øÓ°ß {øÓPÒ ©ØÖ® SøÓPÒ 

¯õøÁ? 

  What are the merits and demerits of the 
graphical method used for determining 
trend? 
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13. (A) SÔ±möhsPÎß £¯ß£õkPøÍ ÂÁõv. 

  Discuss briefly the uses of index numbers. 

Or 

 (B) SÔ±möhsPøÍ Aø©¨£vÀ EÒÍ 

]UPÀPøÍ ÂÁ›. 

  Describe the problems involved in the 
construction of the index numbers. 

14. (A) |ßS Pø»UP¨£mh 52 ^mkPÒ EÒÍ PmiÀ 

C¸¢x J¸ ^mk GkUS® ÷£õx 

(i) μõo ^mk Gk¨£uØPõÚ {PÌuPÄ 

GßÚ? 

(ii) ]Á¨¦ ^mk Gk¨£uØPõÚ {PÌuPÄ 

GßÚ? 

  A card is drawn at random from a well 
shuffled pack of 52 cards. What is the 
probability that it is (i)  a queen (ii)  a red 
card? 

Or 

 (B) J¸ ö£mi°À 10 ]Á¨¦ ©ØÖ® 4 öÁÒøÍ 

£¢xUPÒ EÒÍÚ. AÁØÔ¼¸¢x ‰ßÖ 

£¢xUPÒ GkUS®÷£õx AøÚzx £¢xPÐ® 

öÁÒøÍ¯õP C¸¨£uØPõÚ Áõ´¨¤øÚ 

Psk¤i. 
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  An urn contains 10 red and 4 white balls. 

Three balls are drawn at random. Obtain the 

probability that all are white. 

15. (A) R÷Ç öPõkUP¨£mkÒÍ ¦ÒÎ 

Â£μ[PÎ¼¸¢x A ©ØÖ® BUS 

Cøh÷¯¯õÚ öuõhº¤øÚ PshÔ. 

  (i) N = 200 (A) = 30 (B) = 100 (AB) = 15   

  (ii) N = 400 (A) = 50 (B) = 160 (AB) = 20   

  From the following data, find out the types of 

association  between A and B. 

  (i) N = 200 (A) = 30 (B) = 100 (AB) = 15   

  (ii) N = 400 (A) = 50 (B) = 160 (AB) = 20   

Or 

 (B)  N = 2500, (A) = 420, (AB) = 85 ©ØÖ®  

(B) = 670. öPõkUP¨£mkÒÍ ÂÁμ[PÎ¼¸¢x 

Âk£mh ©v¨¦UPøÍ Psk¤i. 

  Given N = 2500, (A) = 420, (AB) = 85 and (B) 

= 670. Find the missing values. 
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PART C — (5 × 8 = 40 marks)  

Answer ALL questions, choosing either (a) or (b). 

Each answer should not exceed 600 words. 

16. (A) u¢øu°ß E¯μ® (X)  ©ØÖ® ©PÛß E¯μ® 

(Y) Cøh÷¯¯õÚ PõºÀ ¤¯ºéÛß 

Ehßöuõhº¦U öPÊøÁ Psk¤i. 

X 64 65 66 67 68 69 70 

Y 66 67 65 68 70 68 72 

  Find Karl Pearson’s coefficient of correlation 
from the following data between height of 
father (X) and son (Y). 

X 64 65 66 67 68 69 70 

Y 66 67 65 68 70 68 72 

Or 

 (B) J¸ |PμzvÀ ÷©ØöPõÒÍ¨£mh \¢øu 

B´Âß£i ÷uÜº Âø» ©ØÖ® Põ¤°ß 

Âø» RÌUPshÁõÖ PshÔ¯¨£mhx. 

Cv¼¸¢x ÷uÜº Âø»US® Põ¤°ß 

Âø»US® HuõÁx öuõhº¦ EÒÍuõ GÚ 

EßÚõÀ PshÔ¯ •i²©õ? 

÷uÜº Âø» 88 90 95 70 60 75 50 

Põ¤°ß Âø» 120 134 150 115 110 140 100
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  In a marketing survey the price of tea and 
coffee in a town was found as shown below. 
Could you find any relation between tea and 
coffee price? 

Price of tea 88 90 95 70 60 75 50 

Price of coffee 120 134 150 115 110 140 100

17. (A) ‰ßÓõsk |P¸® \μõ\›ø¯ PnUQkP. 

Bsk 1975 1976 1977 1978 1979 1980 1981 1982 1983 1984

EØ£zv 

(hßÛÀ) 
50 36 43 45 39 38 33 42 41 34

  Calculate the three yearly moving average of 
the following data : 

Year 1975 1976 1977 1978 1979 1980 1981 1982 1983 1984

Production 
in (tonnes) 

50 36 43 45 39 38 33 42 41 34

Or 

 (B) RÌUPõq® ¦ÒÎ Â£μ[PÐUS }sh Põ»¨ 

÷£õUQøÚ SøÓ¢u ÁºUP •øÓ°À 

Psk¤i. 

Bsk 1990 1991 1992 1993 1994

EØ£zv (hßÛÀ)  50 55 45 52 54 

  1996B® BsiØPõÚ EØ£zvø¯ ©v¨¤kP. 



 

 Code No. : 12586 B Page 12 

 

  For the following data, find the trend values 

by using the method of Least squares. 

Year 1990 1991 1992 1993 1994

Production (in tonnes)  50 55 45 52 54 

  Estimate the production for the year 1996. 

18. (A) RÌUPõq® ¦ÒÎ ÂÁμ[PÎ¼¸¢x 

SÔ±möhsPøÍ  

(i) C»õì¤¯º •øÓ 

(ii) £õì]°ß •øÓ ©ØÖ® 

(iii) ¤å›ß •øÓ°À Psk¤i.  

ö£õ¸Ò 2000 2001 

 Âø» AÍÄ Âø»AÍÄ

A 2 8 4 5 

B 5 12 6 10 

C 4 15 5 12 

D 2 18 4 20 

  Construct price index number from the 

following data by applying : 

  (i) Laspeyere’s Method 
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  (ii) Paasche’s Method 

  (iii) Fisher’s Ideal Method. 

Commodity 2000 2001 

 Price Qty Price Qty

A 2 8 4 5 

B 5 12 6 10

C 4 15 5 12

D 2 18 4 20

Or 

 (B) 1993® BsiØS ~Pº÷Áõº Âø» 

SÔ±möhsøn Sk®£ ÁμÄ ö\»Äzvmh 

•øÓ°À 1990B® Bsøh Ai¨£øh 

BshõPU öPõsk PnUQkP. 

  Âø» 

  1990 1993 

ö£õ¸mPÒ Gøh (¹£õ°À) (¹£õ°À)

EnÄ 35 150 140 

ÁõhøP 20 75 90 

Eøh 10 25 30 

G›ö£õ¸Ò 15 50 60 

Cuμ 20 60 80 
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  Calculate consumer price index by using 

Family Budget Method for year 1993 with 

1990 as base year from the following data : 

  Price 

  1990 1993

Items Weights (Rs.) (Rs.)

Food 35 150 140

Rent 20 75 90 

Clothing 10 25 30 

Fuel and lighting 15 50 60 

Miscellaneous 20 60 80 

19. (A) TmhÀ ÷uØÓ® ©ØÖ® ö£¸UPÀ ÷uØÓzvøÚ 

GÊxP. 

  State addition and multiplication theorems. 

Or 

 (B) J¸ ø£°À 6 ]Á¨¦ ©ØÖ® 8 P¸¨¦ £¢xPÒ 

EÒÍÚ. AÁØÔ¼¸¢x Cμsk £¢xUPøÍ 

GkUS®÷£õx (i)  Cμsk® ]Á¨¦ £¢xPÍõP 

C¸UP {PÌuPÄ GßÚ? (ii)  JßÖ ]Á¨¦ 

©ØÓ JßÖ P¸¨£õP C¸¨£uØPõÚ {PÌuPÄ 

GßÚ? 
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  A bag contains 6 red and 8 black balls. Two 

balls are drawn, find the probability that  

(i)  both are red (ii) one red and one black 

balls. 

20. (A) 200 ÷£º öPõsh J¸ C¸£õ»¸® £°¾® 

PÀÂ {ÖÁÚzvÀ 150 ÷£º Bs ©õnÁºPÒ. 

AÁºPÎÀ ÷uºÄ GÊv¯vÀ 120 öÁØÔ 

ö£ØÓÚº. 10 ©õnÂ¯º ÷uõÀÂ Aøh¢uÚº. 

£õ¼ÚzvØS® öÁØÔUS® Cøh÷¯ HuõÁx 

öuõhº¦ EÒÍuõ?  

  In a co-educational institution, out of  

200 students, 150 were boys. They took an 

examination and it was found that  

120 passed, 10 girls failed. Is there any 

association between sex and success in the 

examination? 

Or 

 (B) u¢øu°ß Ps P¸ø©US® ©PÛß Ps 

P¸ø©US® HuõÁx öuõhº¦ EÒÍuõ GÚ 

PshÔP. 
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u¢øuPÒ ©ØÖ® ©PßPÎß PsPÒ P¸ø©¯õÚøÁ = 50

u¢øuPÒ PsPÒ P¸ø©¯õÚøÁ ©ØÖ® ©PßPÎß 

PsPÒ P¸ø©¯õÚøÁ AÀ» 
= 79

u¢øuPÒ PsPÒ P¸ø©¯õÚøÁ AÀ» ©ØÖ® 

©PßPÎß PsPÒ P¸ø©¯õÚøÁ  

= 89

u¢øuPÒ ©ØÖ® ©PßPÎß PsPÒ P¸ø©¯õÚøÁ 

AÀ» 
= 782

  Investigate the association between darkness 

of eye colour in father and son from the 

following data : 

Fathers’ with dark eyes and sons with dark eyes = 50

Fathers’ with dark eyes and sons with no dark 

eyes 

= 79

Fathers’ with no dark eyes and sons with dark 

eyes 

= 89

Neither son nor father having dark eyes = 782

——————— 


